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Topic:- General Knowledge

1) Who among the following cricketers, played for Madhya Pradesh in the Ranji Trophy cricket, created a record
of taking 16 wickets in his debut test match for India? /

TuTSlt 21wt fpdhe A Teaue™ #t 3R | e ard Fafefad fhdes) # @ fra yRa o1 3R A oA ugd &t
T AT H 16 fape a9 1 NPT T=mam U

1. Syed Mushtaq Ali / Jug HRdlh 3rcht
2. Chandu Borde / ag CIE]

3. Narendra Hirwani / TﬁTS{ %?Eﬂ:ﬁ

4. Vijay Hazare / fasa E{Glﬁ

Correct Answer :-

« Narendra Hirwani / TG fexa™

2) Who among the following is the Home Minister of Madhya Pradesh government? /
fFrefafea 3 S awye™r IR & Jeast 32

1. Antar Singh Arya / R Rig 3

2. Narayan Singh Kushwaha / TRTIUT g $RIdle

3. Bhupendra Singh / ?{ﬁ-—;ﬁrs’

4. Rampal Singh / e R

Correct Answer :-

« Bhupendra Singh / @*—S{ﬁr@

3) Who is the present Lokayukta of Madhya Pradesh? /
ALY H0 TAHH APIIT DI 82

1. Justice Reva Khetrapal / :QTQ'{%W LCERIE

2. Justice M.L. Tahaliyani / W@W ﬁ?ﬁql:ﬁ

3. Justice Naval Kishore Agarwal / WW PR sprara

4, Justice N.K. Gupta/ Wm’{ﬁﬂ:fa; RIS

Correct Answer :-

« Justice N.K. Gupta/ W@% RIS

4) Who has been awarded the ‘Bharatiya Jnanpith’ for the year 2017? /



99 2017 & "YRIG FUTS" A f6d Fwfd fobar mare
1. Krishna Sobti / T el

2. Raghuveer Chaudhary / Tﬂﬁﬁ'&’ et

3. Chandrasekhar Kambar / GGRRER HaR

4, Ravuri Bharadwaja / T@ﬁ HRglS

Correct Answer :-

« Krishna Sobti / 0T Hlad!

5) Who has been appointed as the Chief Election Commissioner of India on January 2018? /
TaRY 2018 B URA & GBI TG YT & &0 § forae! frgaa favar war am

1. Achal Kumar Joti / 3{dc] DHR 6]

2. Nasim Zaidi / T S}

3. Om Prakash Rawat / 31 UhTRT J[ad

4. Ashok Lavasa / 3R11d aTT

Correct Answer :-

« Om Prakash Rawat / 3NH UehTRI Jdd

6) In which of the following years did Bhopal Gas Tragedy happen? /
Frafafea & & f5w ad # wire i Fmadt 55

1. 1984

2.1978

3. 1988

4. 1974

Correct Answer :-

- 1984

7) Where is the principal seat of Madhya Pradesh High Court located at? /
A YR S UTATed 3t §=F Ui wei AT 32

1. Jabalpur / SIe[cTYY

2. Gwalior / TaTfeIIR

3. Indore / 33 N
4, Bhopal / wara

Correct Answer :-

« Jabalpur / SIe[cTYY

8) The objective of ‘National Knowledge Network’ is to provide i



A Al Aead RTETT JH Acdd) BT 359 UGH BT 3
1. internet facility in schools / '{733'_(*?[ H3cHe ﬁﬁ‘iﬂ
2. virtual classrooms / 3THT! HETY (G?IG‘IFT FATIEH)

3. infrastructure / Tgﬁm?r gﬁ?ﬂﬁ (SRCER)
4, libraries in villages / Tat o QDT

Correct Answer :-

« virtual classrooms / 3THTT HETY @ﬁ\ﬂ?’[ FARRSH)

9) The Khajuraho Temples in northern Madhya Pradesh were built by which of the following kings? /

IR e wewr W FRua @oRTe! WieR &1 frafufaa & @ e won & grr s mar @ ur
1. Maurya/rﬁtf

2. Kalachuri / W

3. Chandela / %Iéﬁ

4. Gupta / [t

Correct Answer :-

« Chandela / Ied

10) Pandurang Salgaonkar was in the news in 2017 for: /

¥ 2017 & TG AeRTaH 39 RO A JrEai | 2

1. Appointment as selector of Indian cricket team / YR fhdhe EH & gl (Qﬂdrc'i) & U Y 3P ﬁgf%
2. Winning medal for India in a sporting event / Ydh WA TS (@ﬁ"'{ Ea?) T YRd & o U Sfian

3. Alleged pitch fixing in an ODI cricket match / T e fordre T A fYd IR W o T

4. Getting selected to Indian cricket team / YR fhdre A9 o 9% 994 81

Correct Answer :-

. Alleged pitch fixing in an ODI cricket match / U f¢awiig fohare Ta ® Sfq IR W e fsfadm

11) Which major title was won by ‘Grandmaster’ Vishwanathan Anand in the year 2017 held in Riyadh, Saudi
Arabia? /

TigHRe’ fAYATYT 3ig A a¥ 2017 A RuTe, T4l 3R # smaifora 19- wia A= shidt
1. World Chess Championship / f3% Zra¥t =gy (@ 99 fugaim)

2. World Rapid Chess Championship / 3% ¥ors Trars dfa=lRig (@ Yus 99 fugafm)

3. Asian Chess Championship / TR Tra¥el g (k= 39 <o)

4. Classical World Chess Championship / FRITRIG S [d% JaRl IfERFARIY (RIS ds o9 AUg-1RT)

Correct Answer :-

« World Rapid Chess Championship / {3% ¥fUs 2raiet AfUg-im (ace s =9 iftmmim)



12) Which of the following has been recently recognised by UNESCO as ‘an intangible cultural heritage of
humanity’? /

frforfEa o 3 @ g1a € § gAws! & gRT “UTHadT 1 TP Sd TRPpiad ARRIa 7-T 41 82
1. Ganga Aarti / 7T 3Rl

2. Amarnath Yatra / {HIAT AT

3. Sabarimala Pilgrimage / TERIHT fam

4. Kumbh Mela / WT’IT
Correct Answer :-

« Kumbh Mela / @Iﬁ?‘ﬂ

13) Mines of export quality marbles are present in which of the following places of Madhya Pradesh? /

T ueR & ffafaa d @ fra wim w frata e arelt arda 3t @  Jigg 82
1. Sleemanabad / SIS

2. Malajkhand / HATOIES

3. Panna / U1

4. Rajnagar / TSR

Correct Answer :-

« Sleemanabad / Wﬂﬂ:l'la'l?{

14) Sandipani Ashram, where Lord Krishna and Sudama are believed to have done their schooling, is located in
which one the following places of Madhya Pradesh? /

HEITt 319, STt | STl @ 6 HATaTT ooT SR T 7 Jrusit Tpelt Rigm ure o oft, wem v &
fFrafafaT -l § o fRa 32

1. Seoni / RaT

2. Dhar / 4R

3, Ujjain / IS0

4. Chitrakoot / faA®c

Correct Answer :-

« Ujjain / IS0

15) Who is the Minister of Public Health and Family Welfare under the Government of Madhya Pradesh? /
AU M F T80 Graul-1d WA 3R IRAR Hedror 7t HiH g2

1. Archana Chitnis / 32T ferefAg

2. Umashankar Gupta / SHIRID Tl

3. Rustam Singh / o R

4. Paras Chandra Jain / URY dg @?

Correct Answer :-



« Rustam Singh / H Rig

16) Who is the Vice Chancellor of Madhya Pradesh Bhoj (Open) University? /
T g1 W (3o Ryfaenea & paufa 19 82

1. Prof. S.S. Pandey /T TH.4d. g

2. Prof. Sangeeta Shukla / o1, fre RICHI

3. Dr. Ravindra Kanhere / ST. X[d=& ®ToxX

4. Dr. Narendra Kumar Dhakad / 8. TR& PHR YIhS

Correct Answer :-

« Dr. Ravindra Kanhere / ST. a5 W%?

17) The Mahamastakabhisheka of Bahubali at Shravanabelagola was held on after 12 years. /
12 99T 91¢ YaUIdEIaT fRIT IIgadl HT TgHRABITHIS DI IUA gal

1. January 2018 / SFaR1 2018

2. April 2018 / 30 2018

3. February 2018 / ThRax] 2018

4. March 2018 / AT9 2018

Correct Answer :-

« February 2018 / TRax] 2018

Topic:- General Hindi

1) AI-SF-ex B fd g gerar &1 o g i A d s e
1. gfaur § ue

2. gfaur o STeT

3. gfaur A 9 gs

4. glaur & ugn

Correct Answer :-

- glawrdATs

2) ‘g ¥ forg wEt Wiy Rdg @1 i
1. Sfa+aife

2. T+

3. gfa+affe

4. ETCIH&IT%

Correct Answer :-



3) Iuda & forg v Wi farsde =Y gfm
1. SIRH+3Iad
2. SR+3
3. SURI+IH
4. JUR+3IHd

Correct Answer :-

. JUR+IF

4) oo gueTe & R te I P A A s w2
1. 3TAH

2. TS

3. IS

4. 3FUD

Correct Answer :-

5) IR F e T yatuarh ard 2=l Ft i «1 gfw)
1. TRaT, {7, T
2. RIRET, TR, 31T
3. IR, R, 3
4. RG], R, 3mem

Correct Answer :-

6) e ST gE FUFEA ISR
1. e
2. 3NN

3. 3GGH
4. Erfid

Correct Answer :-

7) R & e O vufgard ard 2rea) @ ufda &1 gfHw|
1. YR, UIGT, T8TgY



2. 3R, TG, TBIgY
3. R, AIGT, T8GR
4. X7, AIgGT, 98TGR

Correct Answer :-

. TR, TIGT, §8IgR

8) “AgT AT YeTak &1 o P fApel A A ST @
1. THTG TR BT

2. TG WIHR BT

3. YHTA SRR BT

4. YT WIDHR 7 AT

Correct Answer :-

« JHTG WIHR HIAT

9) o3 forait,der Sma,qeT &1 udTe urat 1’ - W 9 & | P4 91 3P 82
1. ITGT PR

2. 7Y SADR

3. Iohifad SADPR

4. SUHT 3[ABR

Correct Answer :-

. IS SABR

10) S} HET 9 o1 Tob* & o 0o WG P A A DA §2
1. YT

2. AHYAT

3. 3BT

4. YDA

Correct Answer :-

. HYHT

11) g sfy s e gt af R o s dar - A Fu A @ e ar sEeR 82
1. GTofad SAdR

2. IIQT 3R

3. IobITad SAPR

4. SUHT 3[ABR

Correct Answer :-



12) <3 ITHT A T g R A A DA ATR?
1. 3MR&0T
2. 3RS

3. ARTSTh
4. 3o

Correct Answer :-
. 3RO
13) ‘P3P T 7 A | HI 1 9L} faeiy vsg 82
1. gael
2. gEal
3. @RI
4. g5-g¥
Correct Answer :-
« I
14) IgE’ F1 g ARG g P A A s ars?
1. B W Td
2. B & forw W
3.8 R Gd
4. g Td

Correct Answer :-

N A NIECE]

15) fr ST AT U AP AR
1. AR

2. 4RI

3. fy

4. 9Rd

Correct Answer :-

16) ¥ BT 19 A T P A1 9L} fadH Ts 22
1. fawa



2. BT
3. o

4. U

Correct Answer :-

17) 381 38 g5 STa® @ | ufayw Wik frem fadwar|

R T Y it | vy R e AR guEer - A A A s g
1. 4R

2. YOS T

3. 3% X9

4. 3fqyd ¥

Correct Answer :-

Topic:- General English

1) Choose the correct form of modal auxiliary verb for the given sentence:
We _ go for a holiday to the US, if we had a lot of money.

1. will

2. could

3. shall

4. would

Correct Answer :-

« could

2) Choose the most suitable conjunction for the given sentence:

Austria is famous for the beauty of its landscape _ the hospitality of its people.
1. since

2. 50

3. and

4. because

Correct Answer :-

e and

3) Choose the most suitable prefix for the given sentence:



The Taj Mahal is a symbol of __mortal love of two people.
1. im-
2. dis-
3. un-

4, re-

Correct Answer :-

4) Choose the most suitable determiner for the given sentence:

While the teacher was explaining the concepts, students were talking among themselves at the back of the
class.

1. none
2. some
3. any

4, little

Correct Answer :-

5) Spot the error in the given sentence:
All children is playing on the beach happily.

1. All children

2. Happily

3. On the beach

4. Is playing

Correct Answer :-

« Isplaying

6) Choose the appropriate articles to complete the given sentence.
The social gap between ___rich and ___ poor is increasing.
1.a,an

2. the, the

3. the,a

4. a, the

Correct Answer :-

o the, the

7) Choose the appropriate articles to complete the given sentence.



When we have a party, we believe in the philosophy of _ more ___ merrier.
1. the, the

2. the, a

3. a, the

4. a,a

Correct Answer :-

o the, the

8) Choose the appropriate preposition to complete the given sentence.
We say our prayers ___ the morning.

1. at

2.in

3. of

4. on

Correct Answer :-

9) Choose the appropriate form of the tense for the given sentence.
They _ for Delhi yesterday.

1. has left

2. are leaving

3. leave

4. left

Correct Answer :-

o left

10) Choose the option with the appropriate punctuation inserted in the given sentence.
my prayers are heard he cried

1. "My prayers are heard," he cried.

2. "My prayers are heard" he cried?

3. "My prayers are heard;" he cried!

4. My prayers are heard! he cried.

Correct Answer :-

» "My prayers are heard," he cried.

11) Choose the correct form of verbs that is in agreement with the subject:



__ the child on the bed. Let me _____ on the couch.
1. Lie, lie

2. Lie, lay

3. Lay, lay

4. Lay, lie

Correct Answer :-
« Lay, lie

12) Give the noun form of the underlined word in the given sentence:
Please do not pass judge without knowing the facts.

1. judging

2. judged

3. judgment

4, judgmental

Correct Answer :-

e judgment

13) Fill in the blank with the progressive tense (continuous tense) of the verb from the given options:
Real estate prices steadily.

1. rising

2. will be rising

3. arerising

4. is rising

Correct Answer :-

e arerising

14) Choose the appropriate preposition for the given sentence.

The rivalry the two groups increased after the elections.
1. between

2. amongst

3.in

4. at

Correct Answer :-

e between

15) Choose the appropriate form of the verb to complete the given sentence.

go for a walk.



1. Lets’s

2. Lets

3. Lets’

4. Let’s

Correct Answer :-
o Let’s

16) Choose the option with the appropriate punctuation inserted in the given sentence.
The programme was so boring that the people just got up and left

1. The programme was so boring that the people just got up and left.

2. The programme was: so boring that the people Just got up and left!

3. the programmed was so Boring that the People just got up and left?

4. the programme was so boring that the people just got up and left?

Correct Answer :-

« The programme was so boring that the people just got up and left.

17) Choose the option that best transforms the given sentence using a question tag:
She paints beautifully,

1. does she?

2. doesn’t she?

3.isn’t she?

4. hasn’t she?

Correct Answer :-
« doesn’t she?

Topic:- General Maths

1) I have Rs. 7250 with me. I want to distribute money in such a way that the amount I distribute is equal to the
number of people I donate money. How much money (least amount) should I keep in my pocket to satisfy the
above condition? /

W URT 7250 FUC & | & ¢ D) 39 UHR A i1 Aredl § 1P AR GRT it TS A 37 a1 &) 681 &b SR
gﬁﬁ%ﬁmmmﬁlwmﬂimﬁaﬁwmﬁéﬁ'g@maﬁﬁﬁmﬁmmmwﬁ

1. Rs. 25/25%40Q
2.Rs. 20 /20 %00

3.Rs. 30/30%UU

4. Rs. 15/153%4U¢

Correct Answer :-



e Rs.25/25%40U

2) If X has 39 elements, Y has 22 elements and 11 elements are same for both X and Y, then how many elements
does X or Y have? /

gRXA39dde, YR 2 da g iR XAR YA naaqum g, @ xary A fra aa @2
1.27
2.61
3.17

4. 50

Correct Answer :-

3) Fill in the blanks: 1,2.5, ,7,10 /
e wm ufte: 1,25, ,7,10
1.4.5

2.5.5

3.6

4.4

Correct Answer :-

e 45

4) Express in hours: 230 minutes 240 seconds. /

230 fiFe 240 AP S B Ul A T DI
32 rs [ 32 g
1. 10 10
38 s 138 5
2. a0 &0

3 hrs [ 32 g
3. a0 a0

Itrs [ 3= HE
4, " 10 10

Correct Answer :-

5) What is the approximate measurement of the angle between the hands of a clock at 1’0 clock? /
1 S99 U St B A1 & St F B0 B SrgwTfIa 919 |ar g2
1. 25 degrees / 25 Y

2. 40 degrees / 40 Y



3. 35 degrees / 35 U

4. 30 degrees / 30 3

Correct Answer :-

o 30 degrees / 30 3

6) 10 students are standing in the playground, out of them 6 are from class XI and 4 of them are from class IX. If
the school authority has decided to select any one of them randomly to represent school games, then what are the
chances that one student of class XI gets selected? /

10 BT WA & A A TS T, 370 A 6 B&T XI A § 3R 370 F 4 F&T IX A §1 afe faemaa mikepror 3
fraTerg & Qddl B IRgd B3 F T {63 v &) arefde w0 & g7 &1 vk ferar @, o s GHa-e §
5 B&T X1 BT TS S AT TR

L | =

L | e

| b2

L | e

4.

Correct Answer :-

L |

7) H.C.F of 625 and 0 is equal to:/

625 37X 0 T HETH HATYGAP (19 & ST §IaT &:
1. 625

2.5

3.25

4.0

Correct Answer :-

. 625

8) Which of the following is a pair of co-primes? /

fFafafed & 3 SiF 91 SR YTl (H1-UT5H) &1 TS T §2
1. (37, 185)

2. (42, 84)

3.(23, 151)

4. (28,49)

Correct Answer :-



. (23,151)

9 CANCELLED

2.45="7

27

110

37
5 120

245
3. 99

17
4, 115

Correct Answer :-

27

110

10) Akash wants to donate 87375 blankets to 698 complexes in a nearby locality. If he wants to keep some blankets
with himself, then how many such blankets should he keep so that all the complexes get equal number of blankets?
/

THTRT UTH & FATP | 698 UG-T-THGI B 87375 HaAd GTH T 91841 8 | U I8 T© Had U U TG
ATedT B, t WA fra daa 3§ @A 71T fob [t Ha=il &t sR1aR e § daa fa

1. 124
2. 125
3.123
4. 120

Correct Answer :-

« 125

11) In a right angled triangle, if the shortest side is 24 cm and the three sides form a Pythagorean triple, then what
is the length of the largest side? /

TS GHS U Y #, i g Bidt Yo 24 At 8 3R i Yome urgurmiivas feua aerdt 8, ot wad 9t
YlT B daTs 18?2

1. 120 cm/ 120 94t
2. 123 cm/ 123 I
3. 143 om / 143 I
4,145 cm / 145 QY

Correct Answer :-

« 145 cm/ 145 30



4.

Correct Answer :-

13) Zeroes of the polynomial x2- 2x- 195 are: /

9gUE - 2x- 195% A
1.-17,15
2.-13,15
3.-15, 17
4.-15,13

Correct Answer :-

14) Ifq, P, v are the zeroes of the polynomial p(y) = v’ —2y? —y+2, then: /

A 0. by TFIC py) = y° 2y’ —y+2 F LI §an
. afy=-2; a+f+y=2
5 @By=2;atpty=-1
3. @By =-1 atpty=-2
4 WBY=2;0tBty=-2
Correct Answer :-

afy=-2; a+f+y=2

15) x=-21 y=16 and z=5, then x*+v*+2*is: [

e s TSR o S S

1. -5040



2.-5030

3.-5050

4. -5060

Correct Answer :-

¢ -5040

16) = oeomss gl L apagl By
3 4 10
25 T 24 12 & 2- 30 FT 2=7

5 4 10

1. 19

2.21

3.16

4. 10

Correct Answer :-

« 10

17) When 4RST is divided by PQ, the quotient is 1UV and the remainder is 0. Find T? [/
g 4RST &t PQ ¥ faenfora forar Smar €, d (e IUV IR 9da 0 3mar 81 T
T e

1.7
2.5
3.8

4.6

Correct Answer :-

Topic:- General Aptitude

1) In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg and Rs. 65 a kg, so that by selling the
mixture at Rs. 71.3 a kg he may gain 15%? /



TP 9T B fo rurd # 60 ¥UT ufafdar iR 65 $uQ ufafeer aret gt foai o1 ara &1 fAfga s
TR, d1fp YT Hi 71.3 U lafHal TTH T8 15% AT U B Jdb?

1.2:3
2.1:2
3.2:1
4. 3:2

Correct Answer :-

e 32

2) The average age of 10 persons in a committee is increased by 2 years when two men aged 37 years and 47 years
are substituted by two women. Find the average age of these two women? /

TS Fifa A 10 AN BT 3Td 3R 2 a9 dF T TN 8, T 37 T4 3R 47 a9 F &} T30 P oY Afgensii gr
wfaifia &= f&ar smar 81 34 &t afgars @1 sia 3y 3ra &8

1. 54 years / 54 Gl
2. 56 years / 56 CL
3. 52 years / 52 CL

4. 50 years / 50 Gl

Correct Answer :-

. 52years/52 QY

3) A grocer purchased 90 kg sugar at Rs. 14.50 per kg and mixed it with 110 kg sugar at Rs. 18 per kg. At what
rate should he sell the mixture to gain 16% profit? /

TP TR 14.50 TUY Yfafeen &1 & A 90 fobum H @digar @ ik 39 18 IuT yfafe«l anrd areft 110 fHum
TN & 1Y FAfda S AT 1 16% TTH UTe B F 7w 59 fyyor ) 39 f5d ¥ ) S=9=m 9nfge?

1. 19.05 per kg / 19.05 ¥UT Ufdfda
2. 18.50 per kg / 18.50 ¥UY Ufdfdbar
3. 19.50 per kg / 19.50 3UT Ufdfdal
4. 18.05 per kg / 18.05 ¥UT Ufdfdal

Correct Answer :-

« 19.05 per kg / 19.05 UT fdfara

4) A dice is thrown. What is the probability that the number shown on the dice is not divisible by 2? /

T U HopT SITdT € | 31 Ui dT @ for ur R e arel 3@ 2 A faursy 18t 22

3
2

S ]



b |

4.

Correct Answer :-

5) If ‘BRAVE’ is coded as ‘FWBSC’, then how will you code ‘LOGOS’? /

Tfe “BRAVE” B “FWBSC” H PIf&d forar 7T 8, a1 37 “L0GOS” &) 7T for@d: Sifsd &
1. TPHPM

2. FBTDM

3. FBTMD

4. FBMTD

Correct Answer :-

- TPHPM

6) If the English alphabet is written in the reverse order and every alternate letter starting with Y is dropped
towards the right, then which letter will be exactly in the middle of the remaining letters of the alphabet? /

gfe 3t quinTar &Y Iare vH # forar T 3R v A AP 8% g 3I&R B aT3 3R Ted §U STU & fur =g,
o P AT &R guiaTer & AW feRt & diw ® ghm?

1.0
2. M
3.N

4.L

Correct Answer :-
« N

7) In how many different ways can the letters of the word 'FIGHT' be arranged? /
'FIGHT' Tg & 3H&RY B fhar fie a81% @ sgafeya far smawar g2

1. 110

2.120

3.105

4. 115

Correct Answer :-

« 120



8) The ratio of the speed of a car, a train and a bus is 6:7:5 respectively. The average speed of the car, the bus and the
train is 96 km/hr. What is the average speed of the car and the train together? /

TP DR, TP o 3R Th I B! T1d BT AJUTd HHT: 6:7:5 3| PR, T 3R e FI 3ia =1ar 96 forrfiaer 31
PR 3R 1 DI 3 AT T 1Y T 82

1. 104 km/hr / 104 fod/eieT
2. 108 knv/hr / 108 fabefi/gieT
3. 110 kmv/hr / 110 fopefi/aier
4. 106 kmv/hr / 106 fopefi/gieT

Correct Answer :-

« 104 km/hr / 104 foHI/der

9) Two stockists x and y are paid a total of Rs. 770 per week by their employer. If x is paid 120% of the sum paid to y,
then how much is y paid per week? /

31 Ut faehaT x 3 y U FraerT gRT Ufa TwiTE et 770 $UT UTW Ba €1 AfS y B YO Y 18 IR 1
120% x Y YITaT faam Sivan 2, < ufa garg y 3t fvamn Yas foan siran 82

1.Rs. 350/ 350 24U
2. Rs. 300 /300 ¥4U
3. Rs. 200/ 200 ¥UU
4. Rs. 250 /250 %UUQ

Correct Answer :-

« Rs.350/350 20U

10) CANCELLED

If 77% of 360 + 20% of 200 — x = 116, then x is__./
Tfe 200 — x PT20% + 360 BT 77% = 1168, ddx =
1. 200.02

2.203.02

3.201.2

4.202.2

Correct Answer :-

« 201.2

11) CANCELLED

The average of marks obtained by 120 candidates in a certain examination is 35. If the average marks of the
passed candidates is 40 and that of the failed candidates is 16, then what is the number of candidates who passed
the examination? /

T Af3a ahtan & 120 SFNEART gRT UTW i) &1 3iHd 35 21 afe I<iiof Iefiear] & fud 3 40 € 3R
SRIP A SHIGAR] B JWT 16 §, dF UH&T & STl 81 arel IRNEaR| 1 H.I |1 82



1. 80
2.90
3.85
4.95

Correct Answer :-

95

12) CANCELLED

In a certain code ‘BLACK is written ‘LDBMC’. How is ‘WHITE’ written in that code? /

T (A ®ie §, “BLACK” &1 “LDBMC” for@r a1 21 3 i # “WHITE” &1 &1 ferar simemm?
1. UGHTB

2. BDKHM

3. NLYGS

4. GVKJY

Correct Answer :-

« GVKIY

13) The ratio between the present ages of Vaibhav and Sagar is 5:3 respectively. The ratio
between Vaibhav's age 4 years ago and Sagar’s age 4 year hence is 1:1 respectively. What is the
respective ratio between Vaibhav’s age 4 years hence and Sagar’s age 4 years ago? /

AU 3R AWR $t adH g P S SJUTd HHT: 5:3 B 1 4 T4 Gd aUT B Mg 3R 31ft J 4 o 91¢ AWR ot
3T & 1T BT 3IUTA HH: 1:1 81 31t 4 a9 91¢ AUT Bt 3T 3R 4 79 T AR FY 1Y & ot HA:

ST T 8?2
1.4:1
2.3:1
3.2:1

4.1:3

Correct Answer :-

14) Ten years ago, a mother was three times as old as her son. Now the mother is only twice as
old as her son. The sum of the present ages of the son and the mother is i

<9 a4 qd, U@ A g § 30A 3¢ | A AT ot 9 ) oY 1 ord wi 3R 9 A Fawt G a1 21 R ik wi
Y adA g BT AN g

1. 54
2.72
3. 60

4. 105



Correct Answer :-

« 60

15) RSME%A4W1A2D#K$3Pq@FB@8IIi7*H6QVY.

If all the special symbols in the above arrangement are removed, then which of the following
will be the 5" to the right of the 11" from the left end? /

RSME%A4W1A2D#KS$3Pq@FBO8IIi7T*HEQVY.
afe 3uded egaear # & wl fadw welenl #r ger fear ww, o Feafataa 7 &

i arf oR & 17y & o 3T 57 gem
1. P
2.D
3.F
4.B

Correct Answer :-

- B

Topic:- General Computer

1) An example of application software is: /
TAIH R AIGEITR PT TS IGT6T 5:

1. Data processing / S T

2. Processing Unit / TR qﬁ—{

3. Control Unit / Eh_@?[ qﬁ'c'

4. MS Word / THIH CE)

Correct Answer :-

« MS Word / THTE I8

2) In MS Excel 2010, what operation does F2 performs? /
THTH TR 2010 H, F2 F9T BT BT 82

1. Edit/ Tfge

2. Paste / U

3. Cut/d<C

4. Copy / CLi]

Correct Answer :-

. Edit/Tfge

3) In MS Excel 2010, what are called workbooks? /



THTH T 2010 H, T I gh Hgaldl 82
1. Fonts / BICH

2. Group of worksheets / a%&fﬂw DYy

3. Templates / %m‘éﬁw

4. Document / W’C’

Correct Answer :-

 Group of worksheets / a&*fﬂw PI YU

4) In MS Excel 2010, which of the following features can help you enter repeated or incremental text or numbers
quickly? /

THEY TaAd 2010 A, e & Q 919 A BlR mue) 2fuar & e 3yar G@nail & Sgv 3ryar sad
$O SIS HI | Hag P AP 82

1. Auto / 3Tl

2. AutoSum / 3ficrH

3. AutoCorrect / 3ficImde
4. AutoFill / 3ficiftha

Correct Answer :-

« AutoFill / 3ffcifthd

5) In MS Excel 2007, date can be in the format of: /
THTH TR 2007 B, e e ueu ® 8 W @:
1.01 — Jan — 2018 only / %ad 01 — Jan — 2018

2. 1/1/2018 only / ad 1/1/2018

3. All of the above / JURIG Jt

4.01/01/2018 only / Hdd 01/01/2018

Correct Answer :-

« All of the above / SURTad Ht

6) In MS Excel 2007, which of the following functions used for arithmetic operations is/are correct? /

THEH T 2007 §, SpIOT ufshareif (@rdafe® sifuv=r) & fore Suaiv fru e fAufefed v &
P A1/ TS 82

1. AVERAGE only / %ad 3d (TareT)
2. All of the above / IURTad IHT

3. COUNT only / $ad TUFT (H13¢)

4. SUM only / &Had T (FH)

Correct Answer :-

« All of the above / SURad gHt



7) In MS Excel 2007, by right-clicking on the sheet tab we get which one of the following options? /
THUH TR 2007 #, Yie &9 W Ige-fFae evd oo Mufafed e § & o1 a1 v fiear g2
1. Insert / ET\‘TCF

2. Save / U4

3. Undo / 3§
4. Print/ Tlie

Correct Answer :-

o Insert/ ET\‘TCF

8) In MS Word 2010, the shortcut key used to copy a character is: /
THTH T8 2010 T, TH IvaeX B HIYI o3 P g Adwpe $1 3:
1. Alt+S

2. Alt+C

3. Ctrl+C

4. Ctrl+S

Correct Answer :-

o Ctrl+C

9) In MS Word 2010, which of the following methods is used to make subscript? /
THEY 9% 2010 ¥, Faferfad faftat & @ #1991 9afEry 91 & fore Suai farar sirar @2
1. Shift+"

2. Ctrl+Shift+"

3. Ctrl+Shift+=

4. Ctrl+=

Correct Answer :-
e Ctrl+=

10) In MS Word 2010, what function is performed by ‘justify align’ in the Home tab? /
THTH TS 2010 ®, §19 &9 H WIRCWTS 3aTs §RT {5d Ba=M ST JdTe gial 82
1. It aligns text to both left and right side margins by adding spaces in between words as necessary /

I8 T3l & oI T TIRIH AR Rad RIM ShigdR a1¢ 3R a1¢ SH avt HIfSH $HRa CRe ! WA dal g |

2. It aligns a sentence to right side /

g T 19 D arlT 3R WRIQd Hral g
3. It aligns a sentence to left side /

g Ueh a1 &) 1Y 3R WA BT ¢ |




4. It aligns a sentence to the centre /
g U 19 B! ol A TRRAd HRaT B

Correct Answer :-

« It aligns text to both left and right side margins by adding spaces in between words as necessary /

g Y] & o1 T ARIH AR Rad RIF SSax a4 3R MY -1 aRW AR ddh SRe ! TR HRal 3|

11) In MS Word 2007, the Home tab consists of which of the following buttons? /
THTH T8 2007 #, 51 &9 & Fafafed # 9 o9 a1 gea miva 32

1. Hyphenation / SRAWHRA

2. Clip Art / faeTa 3mé

3. Bold / SIS

4. View gridlines / alﬁl?:ﬂ'lsq

Correct Answer :-

. Bold/ SIc®

12) In MS Word 2007, which of the following keyboard shortcuts is used to access the ribbons from the tab? /
THTHE T8 2007 #, 29 ¥ Ra a@ ugaq & g Fafafead J 5y Fiais wiése o1 SwarT g e?

1. Shift key / Shift 1

2. Alt key / Alt 1

3. Ctrl key / Ctrl &1

4. Enter key / Enter Gl

Correct Answer :-

« Altkey/Alt &1

13) In MS Word 2007, which of the following icons is used to save a file in different formats? /

Quq%as‘zomﬁ,wmaﬁmw‘ﬁzﬁﬁamﬁ%ﬁqﬁaﬁ@aﬁﬁmmﬁmwm
ST 82

1. Publish / JfeT=1
2. Save As/ @3@
3. Save / ¥d

4. Print / flie

Correct Answer :-

. SaveAs/@aQT?f

14) ROM is an example of : /

I SHDT TS IGTET :



1. Permanent memory / R ARt

2. 1/0 device / 3(T8/3f) f&argd

3. Temporary memory / YTt AARY
4. Software / JIFCATR

Correct Answer :-

o Permanent memory / Rt AERY

15) Chip is a common nickname for a/an ./
e T HTHTI U B

1. Transistor / E'Iﬁlm

2. Integrated circuit / s‘c‘ﬁ%‘s’ gfdhe (Qa'ﬂﬁ tI'i:‘\"q%[)

3. Resistor / YRR (EIﬁIﬁW)

4. Semiconductor / HIHSICR (G{%TEHT‘I?T)

Correct Answer :-

o Integrated circuit / NS gfdhe (QEF)QF% tl'i:\"m{)

16) Which of the following tabs is used to change views in MS Excel 2010? /

THTH T 2010 ¥ g &Y ulafda & fore Fafefaa @ @ few ¢a &1 sy fear wmar g2
1. Page Layout tab / Ul 33T e

2. Design tab SRS |

3. Review tab / ﬁq%ﬁ

4. View tab / & ¢§

Correct Answer :-

» View tab/ aﬁa

17 CANCELLED

In MS Excel 2010, the shortcut key to remove the outline border of the selected cell is: /
HUY T 2010 A, Iafd 99 P T3S die? g f[au uidde #1 @:

1. Alt+Shift+

2. Ctrl+Shift

3. Ctrl+Shift+$

4. Ctrl+Shift+&

Correct Answer :-

« Ctrl+Shift_



